Republic of the Philippines

Department of Budget and Management

PROCUREMENT SERVICE 
PHILIPPINE GOVERNMENT ELECTRONIC PROCUREMENT SYSTEM

BIDS AND AWARDS COMMITTEE



#### **NOTICE OF AWARD**

NOA No.: INTBAC-001-24

Resolution No.: PS-BAC-24-02-01

# FEDERICO O. CRUZ II/AMITA A. EBRON Authorized Representative XIMEX DELIVERY EXPRESS INCORPORATED

Sto. Domingo Road, Brgy. Mayapa, Calamba City, Laguna

### Dear Mr. Cruz and Ms. Ebron:

This is to inform Ximex Delivery Express Incorporated that the Procurement Service - Department of Budget and Management (PS-DBM) Internal Bids and Awards Committee (iBAC) recommended the award of contract to Ximex Delivery Express Incorporated for the PROCUREMENT OF FREIGHT FORWARDING SERVICES FOR PROCUREMENT SERVICE (PS) REGIONAL DEPOTS AND LOCAL GOVERNMENT UNIT (LGU) DEPOTS FOR ONE (1) YEAR FOR LOTS 1, 2, and 3 under Public Bidding No. 027-2023 which was approved by the undersigned, thus, this NOTICE OF AWARD:

Lot No.	Quantity / UOM	Item/Descrip	otion			
					ement Service O Destinations for G	
		Destination	Destination and Type of Vehicles	Unit Per shipment	Unit Price per Shipment	Total Bid Price
1	1 lot	LEGAZPI	10 WHEELER TRUCK	24	₱ 59,500.00	₱ 1,428,000.00
		PALAWAN	20 FOOTER, FCL	18	₱ 69,480.00	₱ 1,250,640.00
TOTA	AL LOT PRICE					₱ 2,678,640.00

Lot No.	Quantity /UOM	Item/Descript	tion			
		Freight Forw Cristobal Stree	arding Services et, Paco, Manila	s, Procurem to Visayas D	ent Service O estinations for (	ffice, RR Road One Year
		Destination	Destination and type of Vehicles	Unit Per shipment	Unit Price per Shipment	Total Bid Price
		BACOLOD	20 FOOTER, FCL	23	₱ 66,480.00	₱ 1,529,040.00
		BILIRAN	10 WHEELER TRUCK	16	₱ 105,000.00	₱ 1,680,000.00
2	1 lot	BORONGON	10 WHEELER TRUCK	16	₱ 98,000.00	₱ 1,568,000.00
		CALBAYOG	10 WHEELER TRUCK	16	₱ 95,000.00	₱ 1,520,000.00
		CATARMAN	10 WHEELER TRUCK	16	₱ 95,000.00	₱ 1,520,000.00
		CEBU	20 FOOTER, FCL	28	₱ 66,480.00	₱ 1,861,440.00
		MAASIN	10 WHEELER TRUCK	16	₱ 108,000.00	₱ 1,728,000.00
		TACLOBAN	10 WHEELER TRUCK	30	₱ 103,000.00	₱ 3,090,000.00
TOTA	L LOT PRICE					₱ 14,496,480.00

Lot No.	Quantity /UOM	Item/Descript	ion			
		Freight Forwa Cristobal Stree	arding Service et, Paco, Manil	es, Procuren a to Mindana	nent Service 0 o Destinations	ffice, RR Road for One Year
		Destination	Destination and type of Vehicles	Unit Per shipment	Unit Price per Shipment	Total Bid Price
3	1 lot	BUKIDNON	20 FOOTER,	18	₱ 85,743.00	₱ 1,543,374.00
		BUTUAN	FCL	28	₱ 86,384.00	₱ 2,418,752.00

CAGAYAN DE ORO	30	₱ 66,746.00	₱ 2,002,380.00
DAVAO	25	₱ 73,754.00	₱ 1,843,850.00
KORONADAL	25	₱ 78,324.00	₱ 1,958,100.00
MISAMIS OCCIDENTAL	15	₱ 70,056.00	₱ 1,050,840.00
SIBUGAY	24	₱ 105,284.00	₱ 2,526,816.00
SURIGAO DEL NORTE	18	₱ 94,318.00	₱ 1,697,724.00
ZAMBOANGA	24	₱ 72,190.00	₱ 1,732,560.00
CAMIGUIN	10	₱ 120,000.00	₱ 1,200,000.00
MISAMIS ORIENTAL	15	₱ 67,166.00	₱ 1,007,490.00
TOTAL LOT PRICE			₱ 18,981,886.00

## **Delivery Instructions:**

Lot No.	Frequency	Destination	Delivery period
	Freight Forwardi Management Ma	ng Services - Pro- nila to the follow	curement Service - Department of Budget and ing Luzon Destinations for One Year
1	PS Main to Luzor	n Destinations	
	24	• LEGAZPI	Within Five (5) Working Days from scheduled date of pick-up indicated in the Notice of Delivery (NOD)

18 • PALAWAN	Within Fifteen (15) Working Days from scheduled date of pick-up indicated in the Notice of Delivery (NOD)
--------------	---

Lot No.	Frequency	Destination	Delivery period
	Freight Forward Destinations for	ing Services - Pro One Year	curement Service Manila to the following Visayas
	23	BACOLOD	Within Twelve (12) Working Days from
	28	• CEBU	scheduled date of pick-up indicated in the Notice of Delivery (NOD)
	16	BORONGAN	-
2	16	• CALBAYOG	
	16	• CATARMAN	Within Five (5) Working Days from
	16	• BILIRAN	scheduled date of pick-up indicated in the Notice of Delivery (NOD)
	16	• MAASIN	
	30	• TACLOBAN CITY	

Lot No.	Frequency	Destination	Delivery period
		ing Services - Procentions for One Year	urement Service Manila to the following ar
	18	• BUKIDNON	
3	28	• BUTUAN	Within Twelve (12) Working Days from scheduled date of pick-up indicated in the
	30	CAGAYAN DE ORO	Notice of Delivery (NOD)
	25	• DAVAO	

25	KORONADAL
15	MISAMIS     OCCIDENTAL
24	• SIBUGAY
18	• SURIGAO
24	• ZAMBOANGA CITY
10	• CAMIGUIN
15	• MISAMIS ORIENTAL

#### **INSTRUCTIONS:**

Pursuant to Sections 37 and 39 of the Implementing Rules and Regulations (IRR) of the Republic Act (R.A.) No. 9184, otherwise known as Government Procurement Reform Act, the winning bidder shall post or shall submit a Performance Security within ten (10) calendar days from receipt of this Notice of Award (NOA). Failure to submit Performance Security within the said 10-day period may result in the cancellation of the award and forfeiture of the bid security.

Very truly yours,

Signature Redacted

ATTY. PHILIP JOSEF T. VERA CRUZ

### Director IV Operations Group

**CONFORME:** 

PRINTED NAME/POSITION

Signature Redacted

TURE

DATE